Problem

| am trying to use Net Beans 3.6, but | have problems

Solution

Use Net Beans 3.5.

Net Beans 3.6 behaves differently from Net Beans 3.5 and some interfaces in the extendibility API are incompatible with the previous version.
Therefore the configuration provided by ACS for ABeans inside Net Beans does not work properly with this newer version.

Related articles

How can more people do development with ACS on the same machine without disturbing each other?
Which ports are used by ACS?

Problems connecting to ACS servers on a remote machine: bad /etc/hosts

Why does the getComponent method of ZLegacy/ACS.ContainerServices return an object of type None?
Why are some of my print statements not showing up in the container output section of acscommandcenter?


https://confluence.alma.cl/pages/viewpage.action?pageId=54002502
https://confluence.alma.cl/pages/viewpage.action?pageId=54002759
https://confluence.alma.cl/pages/viewpage.action?pageId=54002506
https://confluence.alma.cl/pages/viewpage.action?pageId=54003254
https://confluence.alma.cl/pages/viewpage.action?pageId=54003317
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